3P/2

1° °COS FEAR

~11P/6

sin(no yrny)=4ucrio
arcsin(4mcny)=yron
-P/2<=arcsin<=P/2

cos(no yrny)=4mcno
arccos(4ncny)=yrorn
O<=arccos<=P

V1/12V2/2,V3/2,V4/2

F

20=13+7

HaymHaga ¢ 1077000000

Teopud nepmnoan4eCkmnx npouecconB

pagmo
KOMIMIIEKCHbIE
Teopust ymcen
reoMeTpus

AB/AE=AC/AD=BC/ED

4=2+2
6=3+3
8=5+3
10=5+5
12=5+7
14=7+7
16=11+5
18=11+7
20=13+7
22=11+11
24=11+13
26=13+13
28=11+17

{ 6x tgx=ED/AD=BC/AC=BC/1=BC
C

32=19+13
34=17+17
36=17+19
38=19+19
40=23+17
42=

noboe
YéTHOoE
npeacTtaBsmm
O CymMMOWn 2-
X MPOCTbIX

30=17+13




